o
[N

0.15

<3 @> (rad)

©
D

e #5

TR SR TITIE S SRS
_0.05:_ ....................................... -. .......
c)_0.15....|....|....|....|....i....
f R R SRS SRR R
24 F : : : 5

T T T =

08351 0 T 2 3

TP n (PCA to beamline)

< d cot(B) >
o
[
[6)]

.......................................

........................................

........

........

TTal_STg]
it STe

DQM—oT
B M nf(le —ste
D M
DOM]

pIXi eTCPE

PLA000 Bt
7000 eral;
1000 etal 6t02 0

plate StepzD ptlBOO etalp6to2p0

Ol0
102]

d.)u

< 0dy > (kM)

1

2

3

<op/p, > (%)

i

2

3

TP n (PCA to beamline)

100

—

.....................................

.....................................

.....................................

..........

..........

..........

2

TP n (PCA to beamline)



	Contents
	Page 1


